=4 Replaces Toro Groundsmaster 322-D

ﬁn Parts
$  Rotary Decks & Attachments

" Debris Blower - Model 30855

86

- N

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




,‘ Replaces Toro Groundsmaster 322-D

Hﬁn Parts
Rotary Decks & Attachments

" Debris Blower - Model 30855

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
Wheels
40 R99-1268 99-1268 Castor Wheel Assy 8x3.5-4 Smooth 2

Detail Description: Includes: R62-5580 Bearing & R62-5570 Bearing:

93-9939, .
41 R93-9939 982877 Tire - 8x3.50-4 (4 Ply) Sm Pneu 2
42 R100-2348 100-2348 Rim Assy with Bearings 2

Detail Description: Includes 2ea R62-5580 Bearings & 1 ea R62-5570 Bearing.:

43 R100-5832 100-5832 Tube - Castor Wheel 2.80/2.50-4 2
Other Parts Available
92-5575,
70 R98-7068-01 98-7068, Caster Fork 2
98-7068-01
71 R92-8862 92-8862 Cap Assy - HOC 2
92-5582,
72 R92-8861 92-8861 Cap - HOC 2
73 R92-5584 92-5584 Spring - Compression 2
74 R92-5583 92-5583 Washer- Cap 2
75 R92-5581 92-5581 Ring - Retaining 2
26-1580,
76 R63-0070 63-0070 Spacer - 1/2 HOC 12
77 R3-6781 3-6781 Washer - Thrust - Castor Wheel 4
78 R94-1291 94-1291 Bushing - Flanged 4
01-150-1450,
01-158-1260,
79 R325-19 01-178-0840, Bolt-Hex HD 1/2-13 x5 2
20-99-AGD,
325-19

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




,‘ Replaces Toro Groundsmaster 322-D

Hﬁn Parts
Rotary Decks & Attachments

" Debris Blower - Model 30855

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

32128-23,
80 R32128-23 3218-23, Nut - Lock Hex Flanged 1/2-13 2
99-5107

81 R70-8040 70-8040 Washer 4

82 R68-8980 68-8980 Bushing - Spanner Wheel 2

83 R62-5570 62-5570 Bearing - Castor Wheel 2

62-5530,

84 R62:5580 52700

Bearing - Flanged - Caster 4

302-11,
302-19,
302-4,
32-8170

85 R700414 Zerk - Grease 1/4-28 45 Deg 2

21-6010,
302-11,
302-37,
302-47,
302-5,
302-57,
85 R302-5 302-58, Fitting - Grease 2

302-6,
31-0300,
32-9660,
60-0800,
62-3880,
92-4181

86 R86-5350 86-5350 Bumper - Rubber 1

01-150-1020,
01-178-0622,
20-54-AD,
20-54-AGD,
323-13,
513366

87 R323-13 Bolt - Hex HD 3/8-16 x 2-3/4 GR5 1

100-1048,
251-277,
251-5,
38-7820

88 R38-7820 Bearing - Ball 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




,‘ Replaces Toro Groundsmaster 322-D

Hﬁn Parts
Rotary Decks & Attachments

" Debris Blower - Model 30855

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

109966,
88 R343667 251-6, Bearing - Ball 2
38-7820

01-166-0400,
24-10-BD,
24-9-AD,
32-9650,
3256-2,
3256-23,
3256-3,
3256-67,
3290-217,
3556-3,
4-2390,
7-0152

89 R453009 Washer - Flat 5/16 SAE 14

32127-25,
32128-36,
3290-357,
3296-17,
3296-22,
3296-39,
915663P,
99-7443

90 R3296-39 Locknut - 3/8-16 Nylon 8

01-178-0604,

91 R323-2 3739

Bolt - Hex HD 3/8-16 x 1 1

215-51,
30-8470,
3253-21,
Jul-12

92 R3253-21 Washer - Lock 3/8 12

93 R3256-35 3256-35 Washer - Flat 1

94 R93-4696 93-4696 Pin - Snap 1

54-9180,

95 R54-9180 99-6570

Kit - U-Joint 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




,‘ Replaces Toro Groundsmaster 322-D

Hﬁn Parts
Rotary Decks & Attachments

" Debris Blower - Model 30855

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

251-219,
251-253,
251-254,
95 R71-1360 251-320, Bearing 2
71-1360,
88-7880,
94-3405

1-804256,
3290-357,
3296-29,
915662P

96 R3296-29 Locknut - 5/16-18 ESNA 2

119-4038,
22-12-AJFD,
32127-35,
32146-5,
96 R32153-3 32153-3, Locknut - 5/16-18 ESNA Zinc 2
3296-18,
3296-29,
3296-31,
N/A

01-150-0750,
01-150-0760,
01-178-0512,
97 R322-7 20-28-AD, Bolt - Hex HD 5/16-18 x 1-1/2 2
20-28-AGD,
322-7,
3223-4

98 R32121-34 32121-34 Pin - Roll 3/16 x 1-1/2 1

99 RC-10025 32120-8 Ring - Retaining 2

01-166-0110,
01-166-0510,
23-10-GD,
24-7170,
30-8520,

100 R3253-4 3253-4, Washer - Lock 5/16 Zinc 1
48-9350,
48-9360,
48-9570,
68-9420,
99-7577

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




Replaces Toro Groundsmaster 322-D

ﬂﬁn Parts
™ Rotary Decks & Attachments

Debris Blower - Model 30855

[tem R&R OEM
No Part No. Part No.

Description

Qty Order
Req Quantity

33114-020,
43-0110,
48-7710,
66-3160

101 R66-3160

Bolt - Flanged Hex HD

01-150-1030,
01-178-0406,
102 R321-4 20-3-AGD,
321-4,
3222-1

Bolt - Hex HD 1/4-20 x 3/4

01-166-0070,
01-166-0410,
23-9-GD,

103 R3253-3 24-7150,
3253-3,
3256-1,
352-167

Washer - Lock 1/4

3256-1,
3256-22,
3256-72,
33094-00

103 R453023

Washer - Flat 1/4

24-9-BD,
3-1032,
3256-1,
3256-22,
93-0954,
93-0989

103 R3256-22

Washer - Flat 1/4 Yellow

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




